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Question No: 33

a ) Write the names of any five ICT devices. (5 Marks)
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Item Rubric (English) :
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Item Rubric:

Award One Mark for each correct name.
Accepted Answer:

1.Printer

2. Pointing Devices.

3.LCDs

4.Cell Phones

5.Laptops

6. Computer

Write a short note on booting. (5 Marks)
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Item Rubric (English) :

Item Rubric:

Award Two Marks for correct definition of booting.

Accepted Answer:

Booting a computer refers to the process of powering on the computer and starting the operating system. The operating system is the program that
makes all your software applications and hardware work together, so you can do the work you want to do. Once you hit the power button, it's all
automatic from there.

Question No: 34

a ) Define repetition flow in the algorithm. (2 Marks)
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Award Two Marks for the correct definition. s yH AL SRR ) S ‘)Lg-:‘ TBIB-SHCTIRT
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Repetition flow, also known as iterative or iterative flow, is a . . .
procedure in which steps are repeated until a certain condition is L"’\-)Tm 35 U’“‘ 35 Sl e JS "%UL

true. &L\u)d.kﬂuahéjsﬁst_idt_\;dbb
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Write an algorithm to polish a shoe. ( 4 Marks)
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Award Half (0.5) Marks for each correct step of the algorithm.

Acceptable Answer: .

Step 1: Start -(J:/(C/J/“: 1k,

Step 2: Open the shoe polish _ufoj)‘*/gfjtdbLKIZJV/

Step 3: Put shoe polish on the brush ;s : R

Step 4: Polish One shoe —U:@UJ.EJ"U’J}?/.:U%:?’J’/

Step 5: Put shoe polish on the brush _q/f&r}g_g;ébu/

Step 6: Polish the other shoe u’/@ijJL;’/J‘/'SJF

Step 7: Close the shoe polish ~ve. * chS Lt /S

Step 8: Stop -J“/u:}}g/L}?;/»%JP/
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Differentiate between specific instructions and non-specific instructions. (4 Marks)
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Acceptable Answer:

Sometimes we have clear instructions to solve a problem, these c)'u’d!‘c«u,yfjbi LL/J’/&'J(thch«GﬂJ)’)
instructions are called specific instructions, while sometimes we JLLJVVL’ 3lu‘ﬂfabbu/(upﬂ;)uL14M/VL14

do not have clear algorithms or instructions and have to find

such instructions, called non-specific instructions. Ut"’@.’/‘z&’%t'/,t/uwwmwf”Uj’g”"‘y"t&fﬁ”ﬁ
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Question No: 35

a ) Write an algorithm to find the sum and average of three numbers. (5 Marks)
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Rubrics: Award 1 Marks for each correct step from steps 2 to
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e Step 3:find sum=a+b+c ) > 7 e ' )

e Step4: find avg=sum/3. 4 Aajan 8 B sum=a+b+c
e Step 5:Print sum -sum Li\.t)ﬁ ‘5 /*-‘AJA-U-\)S wv\_j avg:sum/3
e Step 6:Print avg we L L. .

* Step7:End s 7 Aﬁavg = 16 ~a

Explain any two benefits of debugging. (5 Marks)
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Item Rubric (English) :
Item Rubric (English) :
Award 2.5 Marks for the correct name and brief description of each benefit.
Acceptable Answer:
Identifying and fixing errors:
It helps programmers identify and rectify errors, bugs, or unexpected behaviors in their code.
Improved program performance:
Through debugging, programmers can optimize their code and improve program efficiency.
Enhancing code quality:
Debugging promotes code quality by encouraging programmers to examine their code more closely.
Time and cost savings:
Effective debugging can save substantial time and resources during the software development life cycle.
Question No: 36

a ) Why do we need debugging? (2 Marks)
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Item Rubric (English) :

Award 2 Marks on the correct answers to the need of debugging.
Acceptable answer:

1. It report an error condition immediately which allows earlier detection of an error.

2. It makes the process of development stress-free and straightforward for use of the user.

3. Itis through debugging that the developer can avoid complex one-use testing code to effectively save time and energy in development of
software.

4. Debugging helps the developer of the program in reducing the use of information that is useless and is not needed.

Differentiate between e-business and traditional business. (4 Marks)
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Item Rubric (English) :
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Award 2 Marks for correct explanation of e-business

Award 2 Marks for correct explanation of traditional business

Acceptable Answer:

E-Business:

In E-business people in any corner of the world can scroll through the web and find store. They can shop at any time of the hour and receive the
products and services easily.

Traditional Business:

Traditional business has physical presence. It serves people locally by providing services or products. People themselves visit locating the stores.

List the names of four operations of computer. (4 Marks)

Item Rubric (English) :

Award 4 marks on correct answer of operations of computer.
Award 1 marks for each operation

Acceptable answer:

1. Input

2. Processing
3. Storage

4. Output

Question No: 37

a ) What is meant by a digital citizen? (3 Marks)
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Item Rubric (English) :

Award Three Marks for the correct description.

Accepted Answer.

A person who uses the Internet and other digital technologies is called a digital citizen.

Define plagiarism, and write its two types. (4 Marks)
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Item Rubric (English) :

Award Four Marks for Correct answer.

Accepted Answer.

Plagiarism is the act of copying someone else's work or ideas as your own, with or without their consent.
Global Plagiarism: Copying or stealing the complete text is called global plagiarism.

Paraphrasing Plagiarism: Paraphrasing plagiarism is the restatement of someone else's ideas as your own.
Patchwork plagiarism: copying phrases and ideas from different sources and composing them into a new text.
Self-plagiarism: refers to recycling your previous work that you have already submitted and published.

Write any five characteristics of a good digital citizen. (5 Marks)
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Award One Mark for each correct characteristic. u!:?d}.:’.g}l?
Accepted Answer. *

1. Know the good and bad uses of technology. -n%KJWlLZ/;IélL&}JU?-I
2. Be safe and responsible online. sty il 57 onl e FUT-2

3. Use of technology in educational and cultural activities.

4, He is responsible for his actions. 'JW'K&’J% Utu’ff//dw/”(f:wﬁ
5. He respects the rights of others. -‘LL"%/’)M}KJW'@‘D}_A

6. To respect freedom of speech and the privacy of others. . . e
7. A good digital citizen encourages positive and useful _‘LL /F’/’KUW‘CU’/””'S

interactions online. _L‘/(ﬁ/“?lKu’;b)bd/u;/»/;!d)!)!ﬂd//”;"y_6
8. Promoting values of digital citizenship. 1 s . Y 2
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9. A good digital citizen is kind. 4‘;L /d 4 y}?&%uggﬂ hf{“.uuu,. dfyi% !
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